Day 1 - Notes (Wednesday 2/17/10)
flx)=2x-3

Mian =
g(x)=4x" +7

Mian =
Day 1 - Hmwk (Wednesday 2/17/10)
flx)=7x+11

M+an =
g(x)=3x° -5

M+an =

Day 2 - Classwork (Thursday 2/18/10)
Ax)=3x> a x=1

M+an =
Ax)=x?+x at x=2

Mian =
:1"()r)=L at x=-5

x+1

M+an =
Ax)=x® at x=3

Mtan =
Day 2 - Homework (Thursday 2/18/10)
L AX)=x’+1 o x=2

Mtan =

Day 2 - Hmwk(Thru 2/18/10) (Cont)
2. Alx)=x’-2 at x=1

Mtan=

3. Ax)=3x*-2x+B at x-=-4
Mtan =

4. fx)=-3, at x-3
M+an =

B. f(x)=L at x=3
x -2

Mtan =
Day 3 - Clwk/Hmwk (Friday 2/19/10)
1. f(x)=x3—2 at x=1

M+an =

2.f(x)=3x2—2x+5 at x=5
Mtan =

3 7"'(;\f)=i at x=3
XZ
M+an =

4 f(x):—x at x=4
X_
M+an =

B. Alx)=4-x°> at x=-1
Mtan =

6. flx)=14x*-3x-2
Mitan =




Derivatives - Slope of a Tangent

The expression found when determining the expression for the slope of a tangent (1, ) fora
functionis called the derivative of the function. The derivative is used to find the
instantaneous rate of change for any value of the independent variable. The various symbols
for the derivative are:

Fix) v alfx) oy Y

The following are examples of several functions and their respective derivatives.

) F(x)=3x° 2) Flx)=x"+x 3) F(x)=x°
f'(x)=6x f(x)=2x+1 F(x)=3x°
Flx)=x"+1 fix)=x"-2 g(x)=3x"-2x+5

5 f(x)=2x & F(x)=3x° . g'(x)=6x-2




Using the six examples from above and without using the Limit Definition of the Slope of a
Tangent Line, establish some short-cut rules for finding derivatives of functions. Use these
rules to find the derivatives (the expression for the slope of a tangent) of the following
functions:

a) g(x) = 6x* b) f(x) =4x% +2x c) f(x) = 4%

MG ) = Bxr sl x 3

d) f( ) Ax° -6x* +2x+4 e)F(x)=3x"+Tx-6 f)h(x)=§xﬁ+2x3-—9
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*This short-cut is called the Power Rule

Power Rule

TF (D= x, where 0 is upos-‘fwe-"\“s »
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Sometimes you have@o change the look 6B the function to be in the right for'm to take the
derivative using the short-cuft.

j)g((x)):i/?x—% 1 k)},v(;r):Tf(3 - 4—37__)(.3 1) A(x)= 8 . 221 7—%)( 5_4
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x°+6x+H

m) F(x)=(x*+2)(x-3) ‘n) f(t)= r5+r"~(t5..{) 0) k(x)= 3 .
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Determine the equationof the tangent line of f(x)=3x® —6x° +2x +4at x=0.

£10= 5% -19x7+2 = m,

£ilo)=z O-03*2 @

£flo)=0-0+0¥{ = — (0,4)

y=w)




